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1) TRADE THEORY

Question No. 1/ Question ID 369 Marks: 2.00

Which meter is used to measure the revolution per minute of a motor?
forelt AeR &1 Ul e ufkerHor Ao & forg fope Hiex &1 STt fosan S 82
(A) O Ampere hour meter (Chosen Option)
He Hiex (Chosen Option)
(B) O Energy meter
Sl Hiex

(C) O Tachometer (Correct Alternative)
(Correct Alternative)
(D) O Centre zero ammeter

A Hg THIR

Question No. 2 / Question ID 143 Marks: 2.00
What is the effect on the surrounding metal placed in an alternating magnetic field?
TATad GBI & H W T Y- & 4T IR T UG GSdl 572
(A) O Eddy current (Correct Alternative)
YdR YRT (Correct Alternative)
(B) O Skin effect
oddl YHId

(C) O Hysteresis

(D) O Dielectric stress (Chosen Option)
RIfdggd d-1d (Chosen Option)

Question No. 3 / Question ID 413 Marks: 2.00
Which cooling method is used in the pole mounting distribution transformer?
O A3 faaror eiaweRk § &1 It 2haas fafy &1 I faar S g2
(A) O OQil forced water forced
§ferd Sfef dferd

(B) O OQil natural air blast
qdd Ui fde arg fawmie
(C) O Oil natural air natural (Correct Alternative) (Chosen Option)
'dl IITEEﬁﬁ (Correct Alternative) (Chosen Option)
(D) O OQil forced air forced
d Sferd gar dferd

Question No. 4 / Question ID 93 Marks: 2.00
What is the Sl unit of Flux density?
TR Tcd 1 S| ATED T 82

(A) O Weber
Weber




(B) O Tesla (Correct Alternative)
Tesla (Correct Alternative)

(C) O Weber/metre (Chosen Option)
Weber/metre (Chosen Option)
(D) O Ampere-turns
Ampere-turns

Question No. 5/ Question ID 420 Marks: 2.00
Why the ferrite core is used in radio receivers?
e Reftadd & HhR1ge SR H1 ITANT i {1 ST 82
(A) O To reduce the electric interference
fIggd 858U & HH IR & forg
(B) O To reduce the constant losses (Correct Alternative)
fraa s P AP B ﬁ‘l’Q (Correct Alternative)
(C) O To decrease the efficiency of receivers (Chosen Option)
REaR P Q&A1 DI HH B o AT (Chosen Option)
(D) O To increase the quality of sound

eqf= & T[urad dgM & forg

Question No. 6 / Question ID 113 Marks: 2.00
What is the purpose of the shunt resistor ‘Ry’ used in series type Ohm meter circuit?

JUft UHR 3N Hiex Ffhe H e e UfRIY ‘R, 61 36=d F1 572
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(A) O To prevent the excess current in the circuit
Hfhe T SAfddh B Bl A & forg
B) O To adjust the zero position of the pointer (Correct Alternative)
Uisex @t I fRUTT & gumaforg w37 & fAT (Correct Alternative)
(C) © To limit the current in the circuit (Chosen Option)
gfdhe H Hic ol TG &1 & ol (Chosen Option)

(D) O To increase the value of meter resistance

ez UfoRiYy &1 7 9 & g




Question No. 7 / Question ID 238
What is the name of the symbol as shown in the figure?

o # feRame U v 1 ATH T /2

Marks: 2.00

|

(A) O Link (Chosen Option)
INEY (Chosen Option)
(B) O Pull switch
g g
(C) O Plug and socket (Correct Alternative)
T 3R ke (Correct Alternative)
(D) O Fuse

S

Question No. 8 / Question ID 255
What is the use of die stock set?

TS TIh AT BT T IYTNT 872

(A) O Cutinternal threads on cylindrical pipe (Chosen Option)

STHTPR UIRY WR AR I HIeT (Chosen Option)
(B) O Cut external threads on square pipe

JHR ISy | a1eI IS Bl
(C) O Cutinternal threads on rectangular pipe

AP R UIRY WR HidR® IS Pl

(D) O Cut external threads on cylindrical pipe (Correct Alternative)

STATHR UTSY UR 918l A HIeHT (Correct Alternative)

Marks: 2.00

Question No. 9/ Question ID 163

What is the phase angle difference between any two phases in a 3 phase system?

3 Tl uTTel! H fHg! &t Bholl & &g Thol W b1 3iaR o 872
(A) O 90°
90°
(B) O 360°
360°
(C) O 180°
180°

(D) O 120° (Correct Alternative) (Chosen Option)
120° (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 10 / Question ID 370
Where the recording instrument is used?
RepiTaT SUBRUT BT IR gl [T STl 57
(A) O To display the quantity

HHET YeiRid o & forw

Marks: 2.00




(B) O To indicate the quantity
AT S DR & ey

(C) O To measure the quantity (Chosen Option)
AT 404 & forg (Chosen Option)

(D) O To register the quantity (Correct Alternative)
HTAT aTrf AP ﬁ'l'q (Correct Alternative)

Question No. 11 / Question ID 17 Marks: 2.00
Which type of fire extinguisher is used for fire on electrical equipment?
fIggd IUHRUN T ST AH R 6 UHR & RS 37 H1 ITART fohar ST 872
(A) O Foam type
hTH UhIR
(B) O Gas cartridge water type
PIcS ofd UHR
(C) © Halon type (Correct Alternative) (Chosen Option)
T YR (Correct Alternative) (Chosen Option)
(D) © Stored pressure water type
Ifed TaTd o UbR

Question No. 12 / Question ID 257 Marks: 2.00
What does the symbol marked ‘X’ indicate as shown in the figure?

o faamy SR X forg o i 87




(A) O Number of clamps (or) clips to be fixed (Chosen Option)
iy (3T fdau @t W@ T HAT (Chosen Option)

(B) O Number of battern (or) pipe to be fixed
Sc (TT) U3y &1 TBT qY HRAT

(C) O Number of switches to be connected
e g & forg &= &t g

(D) O Number of wires run on the limb (Correct Alternative)
o9 R aRI #t T@= (Correct Alternative)

Question No. 13 / Question ID 103
Which is a paramagnetic substance?

DI 1 gD g uard g2

Marks: 2.00




(A) O Steel (Chosen Option)
I (Chosen Option)
(B) O Air (Correct Alternative)
dlY (Correct Alternative)
(C) O Water
ol el
(D) O Glass
CaE)

Question No. 14 / Question ID 173 Marks: 2.00
What will be the readings of two watt meters (W4 & W5) in 3 phase power measurement, if the power
factor is zero?

3 Trof Rfaa A0 &1 a1 HIex (W4 & W) B ST a1 g, At arer thder [ 672
(A) O W;, is equal to W, but with opposite signs (Correct Alternative)
W, W, & SRTaR & afeT faudia fagl & |14 (Correct Alternative)
(B) O W4 & W, both are negative reading
Wy 3R W, ST ThRIAS ST &
(C) O Wy is unequal to W5 but with opposite signs
W4 W, & SRTER T8t g afed faudia fagl & wmy
(D) O W4 & W5, both are positive reading (Chosen Option)
W, 3TR W, GHFI HRIAS AT § (Chosen Option)

Question No. 15/ Question ID 41 Marks: 2.00
What does the number 1.40 represent if a stranded conductor is designated as 7/1.407?
IS TP WSS H8aeR B 7/1.40 & =Y T AT foar 71 g, Y T 1.40 41 et 82
(A) O Area of cross section

SR BT BT &AHA
(B) O Radius of one conductor (Chosen Option)
TP dheac Pl AT (Chosen Option)
(C) O Diameter of each conductor (Correct Alternative)
TP HeFe P AN (Correct Alternative)
(D) O Diameter of all conductor
Ui SR BT AN

Question No. 16 / Question ID 246 Marks: 2.00
What is the disadvantage of the tree system of wiring of Multistoried building?
AR fafeET &t Il & A g yomeht &1 o1 JoHaH 872
(A) O Constant voltage distribution

CIGSCACRRY
(B) O Difficult in fault finding with many fuses (Correct Alternative)
?ﬁf ol H @Rt §ET-IT CaTE| % (Correct Alternative)
(C) O Offers minimum voltage drop (Chosen Option)
YIdH diecst Urd g (Chosen Option)
(D) O Easy load balancing
3 HR I

Question No. 17 / Question ID 166 Marks: 2.00




What is the ratio between the peak value and RMS value?
RRER 7 3R RMS AF & o9 &1 SuTd 1 82
(A) O Effective value
YA G
(B) O Peak factor (Correct Alternative)
W Bhaer (Correct Alternative)
(C) O Form factor
WIH haex
(D) O RMS factor (Chosen Option)
Rms Thaex (Chosen Option)

Question No. 18 / Question ID 422 Marks: 2.00
What is the purpose of tap changer in the power transformers?
faggd TRImTR # U uRaded &1 3539 1 872
(A) O Maintain the primary voltage constant
UIYfAeh dlecel FRR ST 7
(B) O Maintain the voltage ratio constant
diecsl 3UTd fRR FE I
(C) O Load the transformer for maximum efficiency (Chosen Option)
HTAHAH G&fdT & foTE SRIHTHR A8 B (Chosen Option)

(D) O Maintain the secondary voltage constant (Correct Alternative)

fgdia® aieesl IR §91T G (Correct Alternative)

Question No. 19 / Question ID 210 Marks: 2.00
Which apparatus is used to check the charging condition of the battery?
St B ATt U Bt STid IR & Q1T ford IUSHRUT BT IUANT faaT STl 672
(A) O Voltmeter
dreeHicr

(B) O High rate discharge tester (Correct Alternative)
I &3 FARTaRH awer (Correct Alternative)

(C) O Multimeter
AR

(D) O Hydrometer (Chosen Option)
(Chosen Option)

Question No. 20 / Question ID 110 Marks: 2.00
What is the name of the resistor if its resistance value increase with increase in temperature?
gfe aroa # gfg & 1Y UfaRiye BT Uikl A1 9ga1 § o UfaRIe T =TH 91 87
(A) O Sensistors (Correct Alternative)
' (Correct Alternative)
(B) O Thermistors

(C) O Varistors
IR

(D) O Light Dependent Resistor (LDR) (Chosen Option)
wge fetse WA (LDR) (Chosen Option)

Question No. 21 / Question ID 359 Marks: 2.00
What is the type of instrument as shown in the figure?

= & T U SUSHRUI BT UHR 1 872




(A) O Dynamo meter type moving coil (Chosen Option)

U$hR dagedl (Chosen Option)
(B) O Repulsion type moving iron
TSR T4 A8
(C) O Permanent magnet moving coil
R g I pedl
(D) O Attraction type moving iron (Correct Alternative)
YbR dd Fﬁ's’ (Correct Alternative)

Question No. 22 / Question ID 340 Marks: 2.00
What is the function of leak transformer in high pressure sodium vapour lamp circuit?
I o1 AIfSTH Oy oY URuY H ¢l SRImIAR &1 71 B 82
(A) O Reduce the starting current
WIS YR BT TS
(B) O Ignite the high voltage initially (Correct Alternative) (Chosen Option)
URY H 3= diecs HI ST (Correct Alternative) (Chosen Option)
(C) O Increase the working current

(D) O Increase the working voltage
diced] ®f dGHT
Question No. 23 / Question ID 48 Marks: 2.00
How many electrons are there in the third shell of the copper atom?
e & TRATY] & R B F fpad soae 82

(A) O 18 (Correct Alternative)
18 (Correct Alternative)




(B) O 29
29

€O 8
8

(D) O 13 (Chosen Option)
13 (Chosen Option)

Question No. 24 / Question ID 40 Marks: 2.00
Which test is conducted to locate the faults in U.G. cables?
U.G. el § BRTST &1 Ul T o o D19 11 usteror fosan S g2
(A) O External growler test
el YTeR ¢
(B) O Loop test (Correct Alternative) (Chosen Option)
qu 5 (Correct Alternative) (Chosen Option)
(C) O Insulation resistance test
SR UfRIY ¢
(D) O Break down voltage test
S SI3 dlecs ¢

Question No. 25/ Question ID 145 Marks: 2.00

What will be the change in value of capacitance if the distance of the plates are decreased in the
capacitor?

gfe G H wicl 1 gl HH B &1 ST ol YTRdT o |14 H o1 URacH g
(A) O Remains same
FHM BT
(B) O Increases (Correct Alternative) (Chosen Option)
'@l%TIT (Correct Alternative) (Chosen Option)
(C) O Becomes zero
X[ B S
(D) O Decreases

HH BT

Question No. 26 / Question ID 181 Marks: 2.00
Which 3 phase system requires the artificial neutral to measure the phase voltage?
DI I 3 T Yol H Tl diees &I A0 & oIt HHH <qgd $T STa=adhdl gidl 672
(A) O 3 wire delta connected system (Correct Alternative)
3 AR SeeT "aiford fIReH (Correct Alternative)
(B) O 3 wire star connected system
3 IR ¥R 3iferd Red
(C) O Scott connected system (Chosen Option)
Wi dHdes Rer (Chosen Option)

(D) O 4 wire star connected system

4 IR TR Jaifod Red

Question No. 27 / Question ID 245 Marks: 2.00
How many two way switches minimum required in godown wiring circuit to control four lamps?

IR A4l ! AR B & e Miem arafe gfdhe # gan feda al-aRw! g &t sra<addr gidl 82
(A)O 5
5




(B)O 2
2

(C) O 4 (Chosen Option)
4 (Chosen Option)

(D) O 3 (Correct Alternative)
3 (Correct Alternative)

Question No. 28 / Question ID 217 Marks: 2.00
Which is used as a positive electrode in a dry cell?
I el H YT Soaels b &Y H 1 JaNT EIdl 82
(A) O Lithium
(B) © Carbon (Correct Alternative)
(Correct Alternative)
(C) O Zinc
ST
(D) O Copper (Chosen Option)
didT (Chosen Option)
Question No. 29 / Question ID 124 Marks: 2.00
What indicates the shape of a BH curve (Hysteresis loop) of material?
It & BH a%h (R qU) &1 SR o1 g=1fdT 872
(A) O Pulling power of the magnetic material
Jeaia a5 W #1 wia
(B) O Field intensity of the substance (Chosen Option)
U1 & & <igdl (Chosen Option)
(C) O Magnetic properties of the material (Correct Alternative)
ey @t gEPIg fAAWaId (Correct Alternative)
(D) O Reluctance of the material
gerd &1 Refacd
Question No. 30 / Question ID 209 Marks: 2.00
What is the Electro Chemical Equivalent (ECE) of copper?
die &1 faggd Imafe Jedis o g2
(A) O 0.329 g/coulomb
0.329 g/coulomb
(B) O 0.329 mg/coulomb (Correct Alternative)
0.329 mg/coulomb (Correct Alternative)
(C) O 1.1182 mg/coulomb (Chosen Option)
1.1182 mg/coulomb (Chosen Option)
(D) O 1.1182 g/coulomb
1.1182 g/coulomb
Question No. 31 / Question ID 32 Marks: 2.00

Which effect of the electric current takes place in the neon lamp?
31T u & fagga URT &1 S 91 9HTE Bidl 872
(A) O Heating effect
UYHIa
(B) O Gas ionization effect (Correct Alternative) (Chosen Option)
T SATGTH0T YUTT (Correct Alternative) (Chosen Option)




(C) O Magnetic effect
UYHIq

(D) O Chemical effect
UYIq

Question No. 32 / Question ID 1 Marks: 2.00
What is the name of the safety sign as shown in the figure?

ferr & =iy 7T WRen g &1 AW /1 57

(A) O Information sign (Correct Alternative) (Chosen Option)
IATHD fos (Correct Alternative) (Chosen Option)
(B) O Warning sign

(C) © Mandatory sign
IS g

(D) O Prohibition sign
Sy fog

Question No. 33 / Question ID 303 Marks: 2.00
Which instrument is used to test the insulation of new domestic wiring installation?
T TR TR SR TARM & S BT TRIE0] B o fo18 fohd SUHRUT BT IGART faam ST 82
(A) O Shunt type ohmmeter
YiC UDHR gl Hicx
(B) O Multimeter
HecHIeY
(C) O Series type ohmmeter (Chosen Option)
Juft GHR 37 Hex (Chosen Option)
(D) O Megger (Correct Alternative)
R (Correct Alternative)

Question No. 34 / Question ID 338 Marks: 2.00

What is the effect if a person receives a shock current of 20 mA?
gfe fa) safadd ol 20 mA YRT 6T HehT U Bidl 8 ol &1 UHTd USdl 87
(A) O Heart convulsions

Bad AHMIId
(B) O Become unconscious (Chosen Option)

EREURRI (Chosen Option)
(C) O Painful shock (Correct Alternative)

ACPI (Correct Alternative)

(D) O No sensation

BECSIET]

Question No. 35/ Question ID 348 Marks: 2.00
Which method is used to reduce the value of earth resistance?

Y-UfeRYY &7 A HH 64 & forg fog fafd o1 et fasa e 872




(A) O By connecting a number of earth electrodes in series
®s 31 TATCIS] Bl YA | SHSH
(B) O By reducing the size of earth electrode
31 ZATTIS BT MBHR Pl HH HIh
(C) O By pouring water in the earth pit at repeated intervals (Correct Alternative)
fhlff & TI% ¥ GHY-999 IR U SaA J (Correct Alternative)
(D) O By decreasing the depth of earth electrodes (Chosen Option)
31 ZAICIS B TERIS B HH BXP (Chosen Option)

Question No. 36 / Question ID 161 Marks: 2.00
Which formula is used to calculate the form factor (Ks) in an AC circuit?

Tt fdhe T BiH haex (K;) P TUHT B & oY [ G &1 Ui fohan S g2
(A) O «.  Averagevalue
f " Maximumvalue
_ Averagevalue
f~ Maximumvalue
(B) O « . Average value
f ™ Effective value
_ Average value
T Effective value
C) O . Effective value
I~ Maximum value
_ Effective value
f " Maximum value

(D) O i Effective value
f 7 Average value

(Chosen Option)

(Chosen Option)

(Correct Alternative)

_ Effective value
f 7 ‘Average value

(Correct Alternative)

Question No. 37 / Question ID 389 Marks: 2.00
What is the name of the circuit as shown in the figure?

forr # fezame 7w Tfdhe &1 9 T 82




; B B
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(A) O Electronic voltage stabilizer
gAaCHP dlecs WAATIOR

(B) O Electronic voltage multiplier
g diecsl 0T

(C) O Electronic fan regulator (Correct Alternative)
SAGCIP UET fFATH® (Correct Alternative)

(D) O Electronic triggering circuit of SCR (Chosen Option)
SCR & SAde(-a® [eTR e (Chosen Option)

Question No. 38 / Question ID 392 Marks: 2.00
Which type of motor is used in the wet grinder?

ial gaot § ford IR Pt Hiex &1 IuaNT fsar Srar g2
(A) © Shaded pole motor
s Uid Hicx

(B) O Universal motor
(C) O Capacitor start induction run motor (Correct Alternative) (Chosen Option)

SR A ez (Correct Alternative) (Chosen Option)
(D) O Repulsion motor

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 460 Marks: 2.00
Which is example for third order lever?
g 3HTER AR BT HIH-TT ISTER0 82
(A) O Lime squeezer
SH TR




(B) © Common balance
BT oeid
(C) O A pair of scissors (Chosen Option)
d[ Uh TR (Chosen Option)
(D) O Forceps (Correct Alternative)
T (Correct Alternative)

Question No. 2 / Question ID 457 Marks: 2.00
What is the perimeter of a rectangle whose length and breadth are 20 cm and 18 cm?
TS 3M1Id BT URHATT o1 g1, ForRyep! ovalls Ud et 20 A 7 18 T4 82
(A) O 56 cm
56 cm
(B) O 76 cm (Correct Alternative) (Chosen Option)
76 cm (Correct Alternative) (Chosen Option)

(C)O 86cm
86 cm

(D) O 66 cm
66 cm

Question No. 3 / Question ID 456 Marks: 2.00
What is the side of a square whose area is 625mm?2?

T T Bt Yol 1 gt et et 625 fonfi2 g2
(A) O 25 mm (Correct Alternative) (Chosen Option)
25 mm (Correct Alternative) (Chosen Option)
B) O 30 mm
30 mm
C)O 15mm
15 mm

D) O 20 mm
20 mm

Question No. 4 / Question ID 454 Marks: 2.00
What is the value for specific heat of water?

Ul &) fafse w1 &1 9 |1 g2

(A) O 1 (Correct Alternative) (Chosen Option)
1 (Correct Alternative) (Chosen Option)

(B) O
(€) O
(D) O

WW NN D

Question No. 5/ Question ID 448 Marks: 2.00
Convert 0.456 decimal fraction into percentage?
0.456 GRHAd fF & Ufderd ¥ 9eferd?
(A) O 4.56%
4.56%

(B) O 0.456% (Chosen Option)
0.456% (Chosen Option)




(C) O 0.0456%
0.0456%

(D) O 45.6% (Correct Alternative)
45.6% (Correct Alternative)

Question No. 6 / Question ID 455
What is the boiling point of water?
Ot ST FaYid 1 gidl 872
(A) O 32°C
32°C
(B) O o°c
0°C
(C) O 100°C (Correct Alternative) (Chosen Option)
100°C (Correct Alternative) (Chosen Option)
(D) O 212°C
212°C

Marks: 2.00

3) ENGINEERING DRAWING

Question No. 1/ Question ID 463
Identify the conventional symbol of material?

oz A fewme v grEht &% uRufes Udie 1 udl ama?

(A) O Wood (Correct Alternative) (Chosen Option)
ﬁﬂ@ (Correct Alternative) (Chosen Option)

(B) O Lead
e

Marks: 2.00




(C) O Paper
DTl

(D) O Glass
CIE]

Question No. 2 / Question ID 472
Which drawing dimension is correct as per IS standard?

IS AM® & IER I AT IS W Tal 872
(A) O

(Chosen Option)

(Chosen Option)

Marks: 2.00




(Correct Alternative)

(Correct Alternative)

Question No. 3/ Question ID 469

Identify the conventional symbol of material?

Y & URURS Udleh DI UgaH?

Marks: 2.00




(A) O Glass (Correct Alternative)
@I (Correct Alternative)
(B) O Steel (Chosen Option)

UId (Chosen Option)
(C) O Concrete

Iid HdHH

(D) O Wood
GEZS]

Question No. 4 / Question ID 482
Identify the name of the triangle?

Y &1 A ferfau?

Marks: 2.00




(A) O Right angle triangle (Correct Alternative) (Chosen Option)
ﬁ‘{-[ﬁ (Correct Alternative) (Chosen Option)
(B) O Scalene triangle

(C) O Eaquilateral triangle
YS! AP

(D) O Isosceles triangle

Question No. 5/ Question ID 480
Which drawing dimension is correct as per standard drawing practice?

ST 3T & 3FIUR I I IS S gl 872

Marks: 2.00







(Chosen Option)

(Chosen Option)

(Correct Alternative)

(Correct Alternative)

Question No. 6 / Question ID 468
|dentify the conventional symbol of material?

I & URURS Udlleh Bl ugar?

Marks: 2.00




(A) O Steel (Correct Alternative)
HId (Correct Alternative)
(B) O Glass (Chosen Option)

hId (Chosen Option)

(C) O Porcelain
ERIAEEE)

(D) O Lead
NS

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 630 Marks: 2.00
In which orientation, the text is printed width wise?
for Siifvaeem (3ififaam) o, Tove (ure) TisTs o fife (qfgd) gar g2
(A) O Margin
Bl

(B) O Portrait (Chosen Option)
dice (Chosen Option)

~

(C) O Width

(D) O Landscape (Correct Alternative)
(Correct Alternative)

Question No. 2 / Question ID 657 Marks: 2.00

You withdraw Rs.500/- from an ATM. The ATM machine gives out Rs.5000/-. Which of the following would
be ethically correct?

a@rr;qé’lmﬁ%soo - fReTad | | Tdiem 1=fi9 < 5000 /- 3t § | Fufafaa # @ oF a1 Afae 0 3 g8
2

(A) O Take the money
ST o T




(B) O Drop the money near ATM
TATH & U U fIRT &
(C) O Give the money to the poor
el &I 09T S &
(D) O Make a complaint (Correct Alternative) (Chosen Option)
iﬁf dAT (Correct Alternative) (Chosen Option)

Question No. 3 / Question ID 609 Marks: 2.00
The way money is saved, spent and invested

R aRE @ U1 ST ST €, @ T S € AR R bl ST R,

A) O bgnklng
(B) O salary
da

(C) O income (Chosen Option)
3T (Chosen Option)

(D) O financial literacy (Correct Alternative)
=it TrgRar (Correct Alternative)

Question No. 4 / Question ID 583 Marks: 2.00
Which one is a “Do’s” for mterview etiquette?

s Ufedhe ¥ “Do’s”

(A) O Nervousness

(B) O Informal dress (Chosen Option)
3? (Chosen Option)
(C) O Excessive gesture

(D) O Calm approach (Correct Alternative)
PTH U (Correct Alternative)

Question No. 5/ Question ID 650 Marks: 2.00
Which one is a social networking site?
DI T AT "Acdio] AI8e 672
(A) O Face book (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(B) O Lotus notes
dley Aicy
(C) O Outlook express
3T TR
(D) O Mozilla
aifore

Question No. 6 / Question ID 647 Marks: 2.00
Which one is a cyber crime?
P U TTZER AHIRTY §?
A) O Onllne gambling (Correct Alternative) (Chosen Option)
GHT-IFIET-I ﬁﬁﬁfﬂ (SI31T) (Correct Alternative) (Chosen Option)




(B) O Chatting with friends
fot 9 Afe (o=
(C) O Sending email

(D) O Online purchasing
AT Ui (@Rig)

Question No. 7 / Question ID 489 Marks: 2.00
Jobs that have become outdated in the past 5 years

......... et S fwd 5 a8t & R 81 TE 7
(A) O swiggy
Swiggy
(B) O uber
JR
(C) O STD booth (Correct Alternative) (Chosen Option)
STD §Y (Correct Alternative) (Chosen Option)
(D) O ola
3fe

Question No. 8 / Question ID 578 Marks: 2.00
Motivation is categories into
AifedsH &l affpa fpar mre
(A) O high and low
gk IR A
(B) O good and bad (Chosen Option)
ST @T@?T (Chosen Option)
(C) O inner and outer
TR 3R MR
(D) O intrinsic and extrinsic (Correct Alternative)

3iaf¥e 3R dTel (Correct Alternative)

Question No. 9 / Question ID 636 Marks: 2.00
What does ‘ASAP’ stand for, in SMS language?
THUATY HTST H "ASAP" &1 37 372 § 2
(A) O As Soon As Probable
As Soon As Probable
(B) O As Silent As Probable
As Silent As Probable
(C) O As Simple As Possible
As Simple As Possible

(D) O As Soon As Possible (Correct Alternative) (Chosen Option)
As Soon As Possible (Correct Alternative) (Chosen Option)

Question No. 10 / Question ID 681 Marks: 2.00
A person is someone who works for a person/organization and gets paid for that work.
T fad 98 & Sl [t aafdaaiTTa & fog S oal § 3R S HIH & ol Y &Rl §

(A) O Self Employed
LSRRI

(B) O Wage employed (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)




(C) O Entrepreneur

(D) O None of the above

3T A HIS ot T

Question No. 11 / Question ID 515
Fill in the blank with proper pronoun. “She made this cake

g R H ITd I8 & 19 WX | “She made this cake

(A) O itself
itself
(B) O herself (Correct Alternative) (Chosen Option)
herself (Correct Alternative) (Chosen Option)
(C) O myself
myself
(D) O himself
himself

Marks: 2.00

Question No. 12 / Question ID 499
Time management

(A) O problem solving
T D1 A

(B) © managing time
U 0y

(C) O complete your task on time (Correct Alternative) (Chosen Option)
3T HTI A WR T Ty (Correct Alternative) (Chosen Option)

(D) O hard skill
CARE AR

Marks: 2.00

Question No. 13 / Question ID 501

A written description of duties and responsibilities to be carried out in a job is called

forelt 1 H fbu T aTel defedl SR foriaial &1 fafed faavo

(A) O job description (Correct Alternative) (Chosen Option)
job description (Correct Alternative) (Chosen Option)
(B) O resume
resume
(C) O job application
job application
(D)o ¢V
Cv

Marks: 2.00

I STl ©

Question No. 14 / Question ID 557
Which of the following is true about stress?
a1a & IR & I8t afared § 9 o @ 57
(A) O Stress can be managed (Correct Alternative)
19 B yaftd forar s Iedar % (Correct Alternative)
(B) O Stress cannot be controlled
I1d 1 AT 81 foar ot gabd
(C) O Stress can not be decreased
19 DHH -Tg1 B1 Febdll

Marks: 2.00




(D) O

All of the above (Chosen Option)
SR & gt (Chosen Option)

Question No. 15/ Question ID 544 Marks: 2.00
| am a welder. | work with

R ra k| 1Y BT PRATE |

(A) O
(B) O
(C)O

(D) O

welding tools (Correct Alternative) (Chosen Option)
5 SUBRUT (Correct Alternative) (Chosen Option)

laptops

que

robots

REIG!

nail polish

ESCIRE

Question No. 16 / Question ID 505 Marks: 2.00
Choose the correct response for the given question. “How have you been”?

fau 7T uy & fore ¥el IR IMATI “How have you been”?

(A) O
(B) O
(€) O

Same to you

Same to you

Thank you_ And you?

Thank you_ And you?

On vacation_ And you? (Chosen Option)
On vacation_ And you? (Chosen Option)

(D) O Very well, And you? (Correct Alternative)
Very well, And you? (Correct Alternative)
Question No. 17 / Question ID 686 Marks: 2.00
You have greeted the customer. Choose which of the following statements you should use to complete
the greeting.

%mmﬁwéa%l%ﬁwmﬁ%%u&maﬁﬁyﬁr@aﬁﬁma?wmmﬂmw
|

(A) O
(B) O
(C) O

(D) O

How may | help you? (Correct Alternative) (Chosen Option)

A syt Hac P BT TPl E? (Correct Alternative) (Chosen Option)
What do you want?

39 &7 9184 &2

Can you come later

T 391G | 371 gbd §

Why have you come?

3T Y 3T 872

Question No. 18 / Question ID 607 Marks: 2.00
Same situation people should be treated in the same way

T oIt fRuf T alil & I1Y U oI g foban ST =1 u. . |

(A) O
(B) O

(€) O

society

HHIS

equality (Correct Alternative) (Chosen Option)
HHTAT (Correct Alternative) (Chosen Option)
unity

Uehdl




(D) O status

Question No. 19 / Question ID 671

In SWOT analysis which pair is helpful?

SWOT fazavu # o It SN T8 872

(A) O Threats, Weakness
YD, HHGIRI

(B) O Strengths, Opportunities (Correct Alternative)
'\‘l'l'q?ﬁ, 3[dHR (Correct Alternative)

(C) O Strengths, Weakness (Chosen Option)
dlehd, HHSINT (Chosen Option)

(D) O Threats, Opportunities
YHDI, TR

Marks: 2.00

Question No. 20 / Question ID 527

Which one is a “Do’s” of discussion etiquettes?

91 & RIVARI § ¥ SF A1 “Do’s” 872

(A) O Talk about irrelevant details (Chosen Option)
U faeR0r & SR H 91d B (Chosen Option)

(B) O Listen to others (Correct Alternative)
§'\‘R3f 4| ﬁef (Correct Alternative)

(C) O Loose your temper
3{UT 3197 EIY

(D) O Use impolite or rude language

3HE T7 AP HTHT BT STIANT B

Marks: 2.00

Question No. 21 / Question ID 585
Which one is a barrier to speaking?
e B F1eT 1 STl 67
(A) O Poor listening
31 ¥ 1S 7 &
(B) O Lack of time
THY BT DHH
(C) O Nervousness (Correct Alternative) (Chosen Option)
YdaiTgc (Correct Alternative) (Chosen Option)
(D) O Reluctant to read
Ue § 3ifg

Marks: 2.00

Question No. 22 / Question ID 576
Intrinsic motivation is
3ffIRe IR g ...
(A) O to gain social acceptance (Chosen Option)
TP id U R & [T (Chosen Option)
(B) O for money or reward
O 91 9 & forg
(C) O long lasting (Correct Alternative)
WTeT &R dF fed (Correct Alternative)

Marks: 2.00




(D) O

short lived
S{eUrg

Question No. 23 / Question ID 698
Which of the following websites are not popular for finding jobs?

frafaRed & 9 & It daurge A GioH o o1 ATH 0 -Tg! 67

(A) O
(B) O
(C)O
(D) O

Twitter.com (Correct Alternative)
Twitter.com (Correct Alternative)
Sheroes.com (Chosen Option)
Sheroes.com (Chosen Option)
LinkedIn.com

LinkedIn.com

Naukri.com
Naukri.com

Marks: 2.00

Question No. 24 / Question ID 493
Identify the improper term

3{ferd UQ 1 UgEng ......... |

(A) O
(B) O
(€) O

(D) O

sound pollution

G gy

green pollution (Correct Alternative) (Chosen Option)
Bﬁ_d UgUUT (Correct Alternative) (Chosen Option)
water pollution

ol Uyl

air pollution

g UGNt

Marks: 2.00

Question No. 25 / Question ID 616
A computer system consists of

FHR YUTA H .......... Hek

(A) O
(B) O
(€)O

(D) O

hardware and software (Correct Alternative) (Chosen Option)

m.%w TUT AT daR (Correct Alternative) (Chosen Option)

software and program
HIGCITR YT YITH
circuit diagram
SUMH (3R)
mouse and keyboard
HI3Y qYl dlale

Marks: 2.00




